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1. MU ZERT 49 &S & Yoo f6U a1 JHH-argeT 3e7 & HUR W nvs ffda oder &
ﬁvmﬁaﬁmw%l!ﬁ_ﬂﬂﬁ_ﬁ_ﬁjﬂ_@w#mmﬂtmm

You have been called for the written test based on the online data furnished by you in the web application.
if you have wrongly entered in the web any information or you do not possess the required

qualification as per our advertisement, your candidature will be rejected,

2. 994, 80 WAl ¥ yod WeA-yReadH & w0 F § AR afew & afy 90 e #

The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is
90 minutes.

3. AN [Awedl Aigd FEse TR & ¥ g O & % we aniflew w7 @ @ e

The questions will be objective type with four options out of which only one will be unambiguously correct.

4. 9cAF W AT 01 37 g 3N vA% Iad Ieal FAT 0.33 3T Hler AT
Each question carries 01 mark and 0.33 marks will be deducted for each wrong answer.

$9EAT @0 56 ZE/P.T.O.



10.

11.

12.

13.

14.

15.

Teet ¥ Feal &Y & AU wider RO wfa wfed e MTANR SeeR-qfeawT & e
A separate OMR answer sheet with carbon coated copy will be provided to mark the answer options.

mmmmaﬁmw#mmm-gmﬁmammm
FX HET 3T & I HLE ol

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by
blue/black ball point pen.

TF WA F AT 3 36T AT Ieax AT SAem|

Multiple answers for a question will be regarded as wrong answer.

IR oY P ¥ ARG TA-gRgH F Fs Hl HUANR Icqr-qffaer 7 fou v e 5%
fergan =ifewl

Question booklet code printed on the top right comer should be written in the OMR answer sheet in the
space provided.

geA-fecT & IS A T HeppATs T ford |

Enter your Name and Roll Number correctly in the question booklet.
mmm-mﬁmmmmmﬁﬁamﬁaﬁmmn
All entries in the OMR answer sheet should be with blue/black ball point pen only.

qdier gfd & e & safeufy & & Iue gia-ftee W gEdRr e @ifgvl

You should sign the hall ticket only in the presence of the Invigitator in the examination hall.

T ghen Te o ffd & X HOIEY, FEFAcy, AR B G0 I oo
FYEROT, UTET-TEE, Ale Wiy A Y weniy S8t 4§ s

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not
be allowed inside the written test hall. @

ofien qol A W, HITANR Ie-ORad B FR % dedl [MEd @ w8 AR AF AGHR
Sea-qRae fers @ dit For qull ufd o 9| W)

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over
the original OMR answer sheet to the invigilator and retain the duplicate copy with you.

weet-qfeaeT Il A oTE @ HRd g
The question booklet can be retained by the candidates.

qftelr & 2Rt sreafiat Fr oleT g S A AT 76 ¢

Candidates are not permitted to leave the examination hall during the examination.

2 1483



dFeld Hga® (RARAT) / TECHNICAL ASSISTANT (CIVIL)

ders o HY v S A gl BR A 5Ed R & 13 99 W R @ Rt W osEeRa
Ty e 81 A1 & fav fAeld e gt fr g 7 82

A beam of length 7" is simply supported at two points located at 1/3rd of its span from either
end. What is the number of contra flexure points for the beam?

(@ 3 b 4
@ 2 Gy

A e mar A sud &g 9w 200 kN & 97 & 3efer o Faod & Qe 7 gofar §1 had
ﬁmmr—r@rﬁml

Figure below shows the configuration of a cable subjected to a load of 200 kN at its centre.
Find the tension in the cable.

R
v
200 kN
(a) 167.7 (b) 125
(c) 150 d) 250

UF fIF 100 mm FHr HFE IR 500 mm B TRE F Y HAABR H[TEY FIC § I 5T
Hg 9T 500 kN @7 &Hfed s o Far g1 69 f 30=an Ry sar § 5T 120 MPa &
HTRT et vfder A 3w e foem smael & sefdd frar S awar €7

A beam is having rectangular cross section with a width of 100 mm and depth of 500 mm
carrying a concentrated load of 500 kN at its centre. What the maximum span of the beam
which can be simply supported without exceeding a permissible bending stress of 120 MPa?

(a) 45m (b) 30m
¢/ 40m (d) 50m
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ma‘hﬁ;&‘?a@quﬁﬂuaﬂ:—ﬁ%

A cable resists external loads by

(a) % &@RT/ Bending

(b) TS ZaRT/ Compression
(¢} T ea@RT/ Tension

(d) & AR IdEA @I/ Bending and compression

AH @ fFa A &1 39aer A F geaae gwca & RuiRa #&= & fav fear 57 @@ 87

Which among these methods can be used for determining the mass density of soil?

(a) ' ST =R fAT/ Water Balloon method

(b) UTSHAHIET / Pycnometer

(¢) ©=Icd daw / Density bottle

(d) ¥ T/ Sand bath

3N SR arel 7 A & a7 1 e A @A W 3qH AR 2.7 N @1 §1 B 7 9= &
AT 4T 872

A moist soil sample of weight of 3 N, when dried in oven weighs 2.7 N. What is the water
content in the s01l?

(a) 10% ®) 11.1%
) 90% (d) 46.6%

FIeAT HI THEY F o1 gagR foraas 3o gfderd & SROT g1dr g2

The swelling behavior of black cotton soil is caused by the higher percentage of

(a) HAlEARARTSE / Montmorillonite (b) Westa/ Feldspar
(¢) T +EMAE/ Calcium Carbonate (d) AR 3HFa83 / Iron Oxide

AERoT Gidels @ F 9 # uiaed g §

The percentage of lime in ordinary Portland cement 1s

(a) 65% b))  75%
© 25% @  50%
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10.

11.

12.

13.

14.

UTHIHRY &7 39ART FaF AN & fao T smar 82

Passometer is used for the measurement of

(a) 9T/ Speed (b) @A/ Slope
(c) IT/ Angle (d)  g&dl/ Curvature
U ST I T & 399 T &= & e v a@mar 2

A French cross staff is used to set
(a) SEEIF{T T A 450 & HIUT/ 450 angle from the chain line

(b) ﬂ_’&l?ﬂ @1 ¥ 900 &FT FIUT/ 90° angle from the chain line
(¢) @t () 3T (b)/ Both (a) and (b)
(d) AT @ § H1E # HIT/ Any angle from the chain line

qaRT ga T AfT FoT F1 AT R E?

What is value of dip at magnetic pole?

(@) ©0° (by 22.5°
() 90° (d 45°

FATHOT & ENTeT 9T 3 & & &1 Agar & 150 m &1 o W agw e & 4fdr
1.8 & 3R sa & N7 &1 ¥ag W 3ear W 90 wF 6 4T 3.2 ¥ vt TR A sw S for
Fas faastr 82

During leveling, it was found that the reduced level of the floor is 150 m. The level staff

reading on the floor is 1.8 and the reading on the staff held upside down against the surface of
a roof beam is 3.2. What is the height of beam above the floor level?

(a) 32m (b) 1.4m
(¢) bm (dd 6m

TE S TR N qeen F wE SO A & wART waew wfmeE ST R
T 3 &

The maximum effective slenderness ratio of the compression flange of a steel beam against
lateral torsional buckling is

(a) 250 (b) 100
(© 300 d 180

@tﬁm%mmmﬂﬁm%ﬁm%wmwaﬁw%

The minimum angle of inclination of the lacing bar of a double laced column with the
longitudinal axis is

(a 75° (by  40°
() 10° d 20°
5 1483



Ao srgeen Besa #, 3Tud & AT 39Aar T HiflE HET IR ©
In the limit state design, the partial safety factor adopted for steel is

(a) 115 by 15
() 1.25 (d 1.2

UH a¥ & IHd # @hie 1 fIA9er IO §
The creep coefficient of concrete at the end of one year is

(a) 22 b 1.6
(0 11 @ 1.2

6m Gy 3N 4 m TN TF IAER G Al A gl 120 m¥/s & TP WIS G F4T g2 )

Discharge through a rectangular open channel 6 m of wide and 4 m deep is 120 m%s. What is
the Froude number?

(a) 0.7 (b) 0.85
© 08 (d 0.72

= & ol & T sfwan e snfaear der g

The maximum permissible turbidity limit for drinking water is

(@ 5 b 7
(© 10 (d) 39Uad A T HIS 78T/ None of the above
. 1 -2 -1 0
gy FiF AT R A=(-3 3 0
2 2 4

1 -2 -1
Find the rank of the matrix A={-3 3 0

2 2 4
(a) 3
b)) 2
(¢ 1

(@ TuiRa 78 BT ST HHdr/ Cannot be determined
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20.

21.

s

23.

SIS L W U T el 9 ARy W oue g aR W@ @1 fiF & faeieer 3R
ol T AT AT ffaIw)

A simply supported beam of length ‘L’ is carrying a point load W at the mid-span. Find the
ratio of deflection to slope of the beam.

(a) LJ3 ®) L2
() 3L (d 2L

o fF AR & R § qulEn B, vk M geuHAnt & sl H UH GG HIAd §AdE W P ey
¥ BIST AT §| WA GATA FT FFE HoT 6 § AR =dor qunis w1 A p < tan 6, A sAlw
aﬁmmwwﬁgQaﬁqgﬁﬁmmmm,aﬁmPQq%

A block of mass M is released from point P on a rough inclined plane with inclination angle 6,
as shown in the figure below. The co-efficient of friction is p. If p < tan 8, then the time taken
by block to reach point @ on the inclined plane, where distance PQ = s, is

p
o}
0
e}
2s 28
@ \/ gcosftan & — u) ®) \/g cos&(tan @+ u)
28 25
© Jg sin &(tan & — u) @ Jgsin O(tan @+ u)

frafaf@a & ¥ OSefex #1 39t w3 @i a1 o1 AT Frer §?

Which of the following 'property is measured by using Piezometer?

(a) 39T/ Velocity (b) Zd1d/ Pressure

(© ¥1T §r/ Discharge (d) AT/ Viscosity

Zarg Y 3R 3w o & AT A St arelr YW B FEr I §

The line representing the sum of pressure head and datum head is termed as

(a) gaarfeld 999Tar ¥@T/ Hydraulic gradient line

(b) Fe FiT @M/ Total energy line
(¢) dATAHT @I/ Equipotential line
(d) 3TUR @7/ Datum line
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25.

26.

27,

28.

29.

30.

3L

18:456-2000 & IFAR 6 m F A %ol iF & NI & AT ATH AT 7T &
Minimum stripping time for prop of a beam spanning less than 6 m as per IS:456-2000 is

(a) 7f&A/days (b) 14 R+ / days
(c) 21f&/days (d) 28 R&A/days

Tl # ¥ B wfd e s@da &9 & 3ideta anar §2
Under which of the following seismic zone does the Trivandrum fall?
(a) SWeT/Zonell (b) SN/ Zone III

(c) ST/ ZonelV (d) ST/ZoneV

Afafea & ¥ sia @1 daenfaw gerd A8 &2

Which of the following is not a pozzolanic material?
(a) oIS QLA / Fly ash (b) Tafee 71/ Silica Fume
(¢ TfRH/Gypsum (d) Heplas / Metakaoline

IS 456:2000 F TR M20 I3 dwhic AT & AiggaT T 41 gem?

What will be the modular ratio in a M20 grade concrete mix, as per IS 456:2000?
(a) 4.67 (b) 14.00

() 13.33 (d  42.00

& oret & vk {r hEA 9T FA 7 M H AASAT FA 57

In a simultaneous throw of two dice, what is the probability of getting a total of 7?
(a) 1/6 b 14

{c) 273 d 34

Freafad AFcal auT 70T X@T & fr T F 1 A HoT FHgerar §

The horizontal angle between the true meridian and a survey line is called

(a) ﬂﬁiﬁiﬂ a3/ Maénetic bearing (b) &3/ Azimuth

(c) §'S|>FIT/ Dip (d) ?_-I:Q'T:ﬁl'q' %’W! Magnetic declination
T Arga &1 qU e SHRET 1800 B, A sHenr Ragw 3 ¢

If the whole circle bearing of line is 1809, then its reduced bearing is

(a NOE (b) SOE
© S d N

Ref@a § & 59 3% F1 3TN aEar F gdea § e & v Far s g2

Which of the following curve is used to prevent overturning of vehicles?

(a) TIFAF a& / Compound curve (b) HEHEHUT §F / Transition curve
(¢ <€ad d% / Vertical curve (d}y  37TET d% / Reverse curve
8
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32.

33.

34.

35.

36.

37.

e &1 FIRAT goid fhad €I &1 9T 87

Toughness index of soil is the ratio between

(a) WO q\aw 3R @ Hjﬁﬁlﬁ / Flow index and Plasticity index
(b)) IR W IR TRear B\ﬂﬁfﬁ/ Flow index and Liquidity index

(¢ vonfEf®d H@W 3R yaE H‘:fﬁ?i?/ Plasticity index and Flow index
(d) oerar " AR ceif¥es @AT/ Liquid Limit and Plastic Limit

1S:456-2000 & IHTHR, T FEFR0T & HOhaa & U s L g
fear aran B, regemer i wis$ = b, ¥H IS = D 3R YR TS =d

As per 1S:456-2000, the maximum area of tensile reinforcement shall not exceed
Given, width of the section = b, overall depth = D & effeetive depth = d.

(a) 0.4bd (b) 04bD
(c) 0.04bD (d) 0.04bd

100 m2 T 1 O T FaE T 1:6 WHe AN & 39097 N 12 mm A wareler & [{e
HEegs deiE @ AT g

The quantity of cement required for 12 mm thick plastering using 1:6 cement mortar over
100 m2 of brick wall surface is

(a) 0.200 m3 ®)  0.247 m?
(¢) 0.274 m3 (d  0.295 m?
TSART AT & afeT &

In highway construction, rolling starts from

(a) TFTX ¥ URFH F&F Fg FI 3 96d £/ Sides and proceed to centre

(b) Fg A TRFH HF IR Fant $r 3T §ga &/ Centre and proceed to sides
() UH ai® U YHFH & E,:H'fl' P FEd &/ One side and proceed to other side
(d) I9UFT FIT #T/ Any of the above

HFT o & AT gE@w IS 5 Fi ar §?
Which is the relevant IS code for seismic forces?

(a) IS 456 () IS 800
(¢ 1S875 (d) IS 1893

Ae@a & @ si9 @ Nagsy g J86 &7

Which of the following is not a Greenhouse gas?

(a) CHC ® CH,
© CO, @ N0

9 1483



‘pH &Y egeufcd a1 82 (H* HAloR gIggIsid 34+ Higal &I eiar §)

What is the derivation of ‘pH'? (H* denotes the molar hydrogen ion concentration)

(@) pH=log, [H"] (b)  pH=log, [H*]
(¢} pH=-log, [H"] (d) pH=-log,,[H"]
foEuT &7 MU 9Ty &

The base material for Distemper is

(a) =g/ Lime

(b) d%e AT/ White cement
() TarFey % 9RA / Plaster of Paris

(d) =&/ Chalk

Pfaf@a 7 @ e & aAT qud & gaa &1 qOhE R FHIROT carT e wmar €7
AT, p=UIGHT AT

The co-efficient of earth pressure at rest is given by which of the following equation?

Given, g = Poisson’s Ratio

@ 124 ® Lt
M
H

(c) I

+

i
@ £
H 1-u

fArfafaa & 9 &g AU Yomer #§ 3aEdig fFar gxdr 82

In which of the following sewerage system anaerobic action occurs?

(a) Bftew F/ Septic tank

(b) araeT &/ Aeration tank
(¢) R=ma ®6eeX / Trickling filter
(d) 3iTFERIOT @S / Oxidation ditch

10 1483



42.

43.

44.

43,

46.

v R @7 1 kN/m IRATOT &1 9R 38R0 U 918 W A &9 § @aRd & g
e 38§71 A Aegel gids fi7 § wulia & Rar Sw, aF 797w & qeen & 35 @7

F sftaaw [@Rivor &1 e g

A fixed beam is subjected to a load of magnitude 1 kN/m uniformly distributed along its full
length. If the boundary condition at both the ends are changed to simply supported, the ratio
of maximum deflection of this beam when compared to that of the original beam will be

(@ 5:1 b 8:1
© 3:1 b 4:1

5 m fORyia & HiElax €| H7 AR farqor F41 §, FSHHT 9= HHOT IRG 2 Nm Farg
3R € F T & SRR S B OTF AT B2

What is the maximum deflection of a cantilever beam of span 5 m, whose bending moment
diagram is a rectangle of height 2 Nm and length equal to the span of the beam?

(a) 50/EI (b)  83.33/El
() 25/El (d 10/EI

farafof@a & @ 5w uqd F oiges & 3T &1 §a8 937 707 gl fY 30T §?

Which of the following material is expected to have largest value of Poisson’s ratio?
(a) W=/ Gold (b) ST/ Rubber
(c) ©$gs / Plywood d) grr/Diamond

TH AFE FT HTH ¢ 50 (-0.012 & —0.026) § o 39 #Alfaw [Aies 3 ggaar s g

A shaft has dimension ¢ 50 (—0.012 to —0.026). The respective values of fundamental deviation
and tolerance are

(a) -0.026,0.014 (b) -0.012, 0.014
(c) -0.026,0.007 (d -0.012, 0.007

2 cm EAH Y TF AR B8 W A9 31.4 kN & ded AR &7 Sl & aF 30 cm &Y d&rE
# 0.12 mm Hr g g ¥ 3T A A 0.002 mm F ARG BT Tl HIRIOT HUTEF AT
Hifawl

A circular bar of diameter 2 cm, when subjected to a tensile load of 31.4 kN produces an
elongation of 0.12 mm over a length of 30 cm and change in diameter of 0.002 mm. Find the
Shear Modulus.

(a) 250 GPa (b) 100 GPa
(¢) 150 GPa (d) 200 GPa
11 1483



47.

48.

49,

50.

200 mm FSTT 1 F B AMAER TH, AR AR FE W @ L, A 39F fhE @3 F a9
deltT FEGY el gem?

A solid circular column of radius 200 mm does not experience any tension in the section, if the
load is acting

(a) 200 mm F G F WA/ within a diameter of 200 mm

(b) 100 mm ¥F S &F WA/ within a diameter of 100 mm
(¢) 150 mm & fASAT #/ within a radius of 150 mm
(d) 100 mm & TI5JT F/ within a radius of 100 mm

S ‘d Al JeAFR T FE F Th O AW F T & aenmeel & e wiwe
mqﬁaﬂ‘m’m%laﬁmﬂqﬁ3gmwﬁmmaﬂtemﬁﬁmmtﬂmﬂl
S, A AEE W IHUFIA HIwTF iadd g

The maximum shear stress in a solid shaft of circular cross section having diameter ‘d’ when
subjected to a torque of “I” is ‘v’. If the torque is increased by 3 times and the radius of the
shaft is halved, then maximum shear stress on the shaft will be

(a) 24 r (b) 37
© 127 (d) T

A RS TR FAAAT e Hr Sfaw 3RRadar & {4 Ay v

Find the degree of static indeterminacy of the planar structure shown below

A

V7TIT7ITTTIT7
(@ 1 (b) 2
(© 3 (d)

0 @F 9T TERE I warde e & fv, sueey w@dy TRy Saais &y
& g

For a linear elastic isotropic and homogeneous material, the number of independent elastic
constants available are

(a) 4 ® 3
© 2 (d)
12 1483



51.

52.

53.

54.

55.

Fehle HT TS ATFT AT FA & T 39ATT 6T S arl fHeisy Ao &1 R 741 82

What is the size of cylinder specimen used for finding the compressive strength of concrete?

(a) dial50 mm x ht 300 mm (b) dial50 mm x ht 200 mm
(¢) dia 150 mm x ht 150 mm (d) dial50 mm x ht 250 mm

ey feyer-gamer yoel i grhfas smefed #ar ¥7 diE 3 ea wAaS & AT & quE
a1 IR & selieh # gegAE ‘m' § AR B udiE ke SR ke ® S R s F R
T g

What is the natural frequency of the spring mass system shown below? The contact between
the block and the inclined plane is frictionless. The mass of the block is denoted by ‘m’ and the
spring constants are denoted by ‘k:’ and ‘k2’ as shown below.

(a) LR (b) Ry +hy

2m 4m

© 2R @ [ack

I IRIFIAT RIBTOT ZIRT I WHAS T A AT I[OT HT I FITr 82

Which is the property of cement obtained by Air Permeability test?

(a) %I&?IT/ Fineness (b) UR{Ae AfET AT/ Initial setting time
(c) €afAN / Soundness (d) TSI #T ITHAT / Heat of hydration

UF qeH A ol 7S AF YT B FAE 24 om B) 9 T Ul F @@ ag 5§ AHA §, O Fa
20 cm BT &1 IT & Foler HT T T

The height of moist sand taken in a cylinder is 24 cm. When it is fully inundated in water, the
height is 20 em? Find the bulking of sand

(a) 22.5% (b)  25%
() 20%. d 12%

FhIE AT F TF JTABR AHA A FdgA afFT 20 MPa Bl I SR At @ 3uda
forar ST & d@dsa afea ar giefre

The compressive strength of a concrete mix when tested using a cylindrical specimen is
20 MPa. What could be the compressive strength obtained if cubical specimen is used?

(a) 25MPa (b) 30 MPa
(¢} 16 MPa (d) 20 MPa
13 1483



30° fasme @07 AR 16.2 ym? H AT Fegel &HAT arell AL W wFaAifaad narehg s &
foior & faw g $f 3aeEs FgHaH TEUS AT F A FT as 1200 ke 9 m3 )

Calculate the minimum depth of footing required for a residential building proposed to be
constructed on a soil with angle of repose 30° and safe bearing capacity 16.2 t/m2. The soil

57.

58.

59.

60.

weighs 1200 kg per m3.

(a)
(©

1.1m (b) 1.5m
0.9m (d) 1.2m

Rirer wf@er dies & fawrd o7 woF arel AR A1 =gaFad A fra &2

The minimum thickness of wall that can be laid with Single Flemish Bond is

(@) 2§ A &ar/ 2 brick wall (b) 1€ #r &ar/ 1 brick wall

© 1% %c & §ar/ 1% brick wall (d) 1% $e & AR/ 1% brick wall
vifiele & fAv 39 e e FT qAT A & fov FFar svar g
Deval attrition test for aggregates is done to find the

(a) TOTE@ $r 2T/ Rate of wear (b) HG{E!'\Eﬂ' / Toughness

(¢) FBRAT/ Hardness (d) T FHGAWMWOT/ Water absorbtion

fordY ar@r & Fe ¥ FJFE F 3c9eT gl e &Y &

The defect in wood that results from cutting across a branch is

(a)
©

&Y U AFRIcHE a1 OY0T ga [A&fad g & o9

Negative skin friction develops on a pile when

(@)
(b)

(©)
(d)

M / Knot (b) 9=/ Pitch

&9 / Cup ' (d) 9% /Shake

& & Yy T3S & ams fear Swar &/ Pile is driven in a sandy soil

ST qoA H WU Hr S HWF S5 § / Surrounding soil settles more than the

pile
A TAX d8dT &/ Water table increases
¥ Fr A Rl /LY gr Hr g1 &/ Pile tip rests on clayey soil

14
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61.

62.

63.

64.

65.

e av wE & fov f(x)—5tan'l(2x)+%4 x=2 9T f(x) & SqcTeet HT AR FY

4
For a given function f(x)= 5tan~'(2x)+ —%—compute the derivative of f(x) at x =2

(@) 3 by  5/4
() 3/2 @ 5

Tl & Tecarnier fEar & 3iafer & qorReT F AT e HaRer a9 F wgeiad qor Rrden
gar arfgu?

What is the minimum velocity with which a spacecraft should travel, to escape into space from
earth’s gravitational pull?

(a) 8.5 km/sec (b) 11.2 km/sec

(c) 12.87 km/sec (d) 7.6 km/sec

5 W F UF g1 ged R S OF T IRCAIFIOT i SR IeT F IERY A A0 3uE
A & dr gfr w RRa B

The centre of gravity of a right circular solid cone of height ‘'’ lies at a distance of
from its vertex measured along the vertical axis.

(a) h/4 (b) 3h/4
(© b2 d 4w3

e el T 1T 9erd &1 geAredar S # AF, B SHH FONAT F AN C ¥ aET
g, ar O AT, K fhaer gen?

If the modulus of elasticity, ‘E’ for a given material is twice its modulus of rigidity ‘C’, the bulk
modulus, ‘K’ equals to

(a) 2C ®) 3C
() 2073 d 3Cr2

AR FTIE e & fad HiOwan owqor gidee 3R Mo srowor gfed &1 e
Fepet gram &2

The ratio of maximum shear stress to average shear stress developed in circular cross section
equals to

(a) 1/2 (b)y  4/3
(0 3/4 @ 13
15 1483



66.

67.

68.

69.

70.

U HIAFR doiel i DMeE 4 m 3R TS 3 m &1 A7 A1 gRfos R ma i)

A rectangular channel is having width 4 m and depth 3 m. Find the hydraulic radius of the
channel.

(a) 1.20m (b) 0.83m
(c) 3.00m (d) 4.00m

g8 o YTy T #IE A A8 @, seerar ¥

A fluid which has no viscosity is termed as
(a) IFafdF AT 9/ Real fluid (b) I T g/ Ideal fluid
(c) LI &g/ Newtonian fluid (@ ¥R ~AATT 5/ Non Newtonian fluid

T A B, o day T AR dawe AR Qe Rt W R ¥l e # aiy @ e
Y oS HROT 53 7 q@wfaer gren

A slender bar of length ‘I’ and area ‘A’ is pinned at both ends. Find the rise in temperature of
the bar which would cause buckling of the bar

[adE farax BlUTIEI? ! co-efficient of thermal expansion = 10-5, A = 0.01 m?, 1 = 3.14 m, S5
3MEOT / Moment of Inertia of the bar = 10~m¢]

(@) 1000°C (b  500°C
© 250°C d  100°C

IS 456:2000 ¥ 3RTHR 37 @A wRFEAfT & AU ~g7aw7 Ade qwah
Minimum cement content for severe exposure condition as per IS 456:2000

(a) 300 kg/m? ‘ L) 320 kg/m?
(¢) 340 kg/m3 (d) 360 kg/m?

TE AU AF A 10 mm 9 AR 2 MR e @ 83 ganr e 3140 RraaA
GSUAE #I Uw Aifde Bvw &1 I o3 &1 Mz #vr 0.1 9T § A 399 N 30Fam
3q®qur gfaga AT FfSA| FORar ATF = 8 x 104 N/mm?

A torsional pendulum consists of a horizontal disc of mass 3140 kg suspended by a 10 mm
diameter and 2 m long steel rod. Find the maximum shear stress induced in the rod, if it is
subjected to an angle of twist of 0.1 rad. Take modulus of rigidity = 8 x 104 N/mm?2

{a) 40 MPa (b) 100 MPa
(¢ 64 MPa (d 50MPa
16 1483
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72.

73.

74.

75.

76.

el & AT Yt & i @ FeateR g gend &

The vertical distance between any two consecutive contours is called
(a) wgad W(‘:I_,FJ/ Vertical equivalent (b) s HHJIeT / Horizontal equivalent
(c) @HATT AU / Contour interval (d)  |AET &/ Contour gradient

THAT anT arer &5 Y SsS arelr Y@ FEerar &

The line connecting the areas of equal rainfall is termed as
(a) TRSE-GET/ Isobar (b)  FATYT Y@/ Isotherm
(c) WFATTT Y@/ Isohypse (d). HaNr 3@/ Isohyet

FArfafad # 4 ®la @ 939 Juve F FEYAE F HROT T 57

Which of the following rock is formed due to metamorphism of Basalt?
(a) WoraTse / Felsite (b)  IHIAT/ Amphibolite
(c) SRS / Dolerite (d) FAEHATSE / Quartzite

STol & grEgieie AR HiFstar & FeqH = FT A 7
The ratio of mass of hydrogen to mass of oxygen in water is

(@ 2:1 by 1:8
(© 8:1 d 1:2

ﬁmﬁ@aﬁ#ﬁammmmﬁmﬂaﬁ#m@m#ﬁmﬁ

Which of the following Bouge’s compound is primarily responsible for early strength of
cement?

(a) C:S T3 Ficermw RAAFE / Di Calcium Silicate

(b) CsS T Hiowras ﬁﬁarc'/ Tri Calcium Silicate

(©) CsA g1¥ HfowadA wegfAaAe / Tri Calcium Aluminate

(d) C.AF g7 ShfeaH Qﬂﬁﬁﬂﬂ@?l Tetra Calcium Aluminiferrite

fArafaf@a # & @l ar gderr Feng Fhe & I Aaraed wheror a8 &2

Which of the following test is not a Non Destructive Test of hardened concrete?

(a) HogrAAF o I TETor/ Ultrasonic Pulse Velocity test

(b) Je1-313< 3R aRtgeraar 9eoT / Pull-out and Maturity test
() RE3s & WeTvT/ Rebound Hammer test
(d) 4 & FTaFHET gfieToT/ Vee Bee Consistometer test

17 1483.



78.

79.

80.

AR 7 ¥ 8 gRa Rar awad J&r srar 32
Which of the following is considered as a green building material?

(a) TAZT £/ Clay brick (b) S WA Fr 3¢/ Fly ash brick
(c) gé?—‘q‘ &z / Refectory brick (d) Fshie $r 3T/ Concrete brick

rfai@a & ¥ &R =1 399 Sl FI BE F B smar 22
Which of the following pile is used in black cotton s0il?
(a) T &/ Batter pile (b)y A ST & A/ Under reamed pile

(¢) %=X ¥/ Fender pile (d) UFFH &I/ Sheet pile

HEHAY HIT F BP0 TR F FIEROT T HEedwar gy 22

The type of chlorination required during epidemic period is

(a) &% UIse FARIAIHIUT / Break point chlorination
(b) q‘:é FATHIT / Pre chlorination

(¢) BFANFIoT/ Dechlorination

(@) FU FAEAROT/ Super chlorination
fRrfafae Jer & i Rgia F HwER e w1

Match the following as per Euler’s theory of column.

Jfad 2@ / End condition d&faer #18/ Buckling load
A am RY f&X & / Both end . 272EI/I?
fixed

B. uw RAU R g IR w R
BT / One end hinged and one 2. n®EIl4I?

end fixed

C. gt f&Y 9T B=a / Both end
hinged - 3. 42 EII?

p. & U few ik w @Aw
?fl'?l'/ One end fixed and One

end free 4, 772 EI/ L2

Codes :

A B C D
@ 3 1 4 2
{(by 3 2 4 1
{(cy 3 4 1 2
dy 3 4 2 1
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